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a) 8
< b) 3 ﬂ
c) 4

d) §

2. Find water imag® of
Questlon Figure

-2) 1
b) 2
c) 3
d) 4

3. Which answer figure will complete
the question ﬁgure'?

1. mnuhn Figure .

Arswer Figures :

N 71/

4} 2) ‘y
a) 1
b) 2

d)4

4. Which one of the answer figures
shall complete the given questton
fi gure’?

Question Fligure :

Answer Figures :

o] N2

o @ 13 {4
_ar1
b) 2
g) 3
d) 4

5. The next number of the sequence
359,17, B8 o
5 - iy
by 60 >
c) 50 TR
d) 49

6. Find the number of triangles in the 3 >

——

g;lgg'f:gure Lé
£\

.3)/

a) 14

15

) 18
d) 20

7. Choose the alternative which is
closely resembles the mirror image
,of the given combination.

ANS43Q12
(2rSIOEbBUA

(1) AUBHLEQTS
(3) SUAERDST (4) FSOMEANS

a) 1
By 2
c) 3
d) 4

B. Identify the figure that completes
‘-lhe patterm given at X

el
%

(2) ot i)

b) 2

d) 4

[ - Moming Shift — Series B



9.

10.

11.

12.

13.

14

If the first two statements are true,
the third statement is

A toothp:ck is useful.

Useful things are valuable.

A foothpick i is valuable

a) True

b) False ~
¢) Uncertain

d) None of the above

At the baseball game, Henry was
sitting in seat 253. Marla was
sitting to the right of Henry in seat
254. In the seat to the left of Henry
was George. Inez was sitting to the
left of George. Which seat is Inez
sitting in?

a)251
b)254
c)255
d)256

One term in the number series is
wrong. Find out the wrong term.
8, 13, 21, 32, 47, 63, 83

a) 13
b) 21
c) 32
447 .

Select the number from among the
given options that can replace the
question mark (’?) in the following
series.
272477 238, 7, 21B0
“Ta) 723 [

by 725

) 733
’G d) 728

In a certain code language, '‘BOOK’

is toded as2303022'and
CAMERA is C coded as 31265361.

Howwﬂl' EHICLE' be coded in
that language'?

a) 4451693245

d) 4410893245

If the uncle of the father of Rani is
the grandson of the father of Anup
and Anup is the only son of his
father, then how Anup is related to
Rani ?

a) Grandfather

b) Uncle

¢} Maternal Uncle
d) Great grandfather

[2]

A0
/A

5/

15.

_d) 81

16.

17.

18.

In a certain code language,
‘ACCELERATE is coded as 100"
How will MOMENTUM be coded
i that language?

a) 114
b) 64
¢) 102

Select the option in which the
numbers are related in the same

WAy as are the Aumbers of the
following set

(12‘52 14)°
(13,54, 15)
b} (14, 51, 186
c) (11,47,
d) (10, 44, 12)

Select the number from among the
given n options that can replace the
question‘mark (?) in the following
e
5,15, 41,91, 7
Futr

b) 173

c) 175

d) 170

Select the combination of letters
tiat when sequentially placed in
the blanks of the given letter series

w'll"cBmpIete the series.
$_AQ[_PPA_Tr pPa__"~

A(3) gprqrq

p'i)
‘,‘

"U\_Q |

19.A,B.C, D, E, F, G, Hand K are

- Morning Shift — Seres B

siting around a circie facing the
centre, A is third to the left of H,
who is fourth to the left of G. C is
fourth ta thie right . of D, who is
second to the right of A. E is third
to the left of G. B is fourth to the
right of K in which of the follawing
combinations are the three

persons sifting iogether”
KEB / .
) BCK £
Q) HCG M 7
d) DHE
¥
/l -
-3 Vi,
:



R,

ode language,

aif
Nain ¢ 26. The smallest number to be added

FORWAR js written as _
'CSZXQpE. How will'CHAPTER’ to 1000, so that 45 divides the sum
be writigp, in that language? exactly, is : '
1) QFgnzB a) 35
d) QFs7IG d) 10
21. Look carefylly 8! the sequence of 27.Out of four numbers, the average
Symbols 1o fnd 1N Pattern. Select of the first three is 15 and that of
correct patiem the last three is 16. If the last
" number is 19, the first is, S
cQelsalo? - \ /
o s Da &1 18
s B e d) 16
_a) 1 0<' 28. The average salary of all_the
by 2 workers in a workshop is 8.000.
c) 3 The average salary of __7
d) 4 technicians s 1%;@’0 and the
‘ . average salary of the rest is 6,000.
22.1n which answer figures-té the The total number of workers in the
giverTigure embedded? workshop is: T
Question Figure ; a).‘zﬂo:ﬂ
b) 22

W c) 21
Answer Fligures : d) 23
' 29, If a:b=7:9 and b:ic =15 :

o0 @ ’J f a
g “whatisa:c?

' a) 5:3

<) @ @ ,-_J 3:5

a1 ¥ a) 7:21

b) 2 b) 7:15
3 .

30. In a village 30% of the population

7, then

c)
d) 4 g e : -
is Iiterate. If the total population. of
23 H_ypgiphobia: Height::Hylophobia: ? the ~ vilage is. 6,600, then the
a) Forests = sl number of illiterates is: al
b) Animals a) 1980 i
c) Water . b) 2200
d) Al of the above c) 4620
- d) 3280
~The day pefore yesterday was
Saturday. What will be the day 31. A's income is 25% more. than B's
affer fomorrow? . ficome ™ B's income is what
a) Thursday percent of A’s income?
p) Friday a) 80 S
ednesday b) 50
Monday c) 75
. . d) 25
25. There are 07 meT?e D -'"éfa'""" 32. If the profit on selling an articl far
: .DisG's . If the pro g L
D is the mothe! Rs. 425 is the same as the loss on

¢ G is brother of A s the lo
gelling it for Rs. 355, then the cost

ather's mothe
fe y son of E. How

is the on! .

iasng gl:telz to C? ,,37")/ . price of the article Is
a) Brother q- D= /3) Rs. 410
b) Mother's Brother - .b) Rs. 380
»c) Father g pc) Rs. 400
d) Rs. 390

d) Father’s Father ;
g [3] - Moming Shift - Series B



_~33.A and B can do a piece of work |
. do a piec in
- 727days. B and C'can'do it in 120
days, A and C can do it in 90 days.

FEcRa In how many da
' ys all the thre
3 7 (r-(f;" tc;gerher can do the work? 8
5 3 days - O
= -"B)/G%Odays
. ©) 100days
e A=17  d) 150 days

34. The ﬁrs{ term of an Arithmetic
Progression is 22 and the last term
ts=11. If the sum is 86, the number
of terms in the sequence is™
a) 10
b) 8
c) 12
d) 8

35. Tfle angles of a triangle are (x +
)%, (2x = 3)° and (3x +4)°. The

value of x is:
a) 30 -
_b}-31 e
c) 29 w/.;
d) 28

lo'/a

36. A man 6ft tall casts a shadow 4 ft
long, at the same time when a
flagpole casts a shadow 50 ft long.

450 at loss. If he 56 > i" forRs.
480, then he would 93N an amg
(in Rs) should he 5€' the article o
gain 20%7 %
_b) 5452 .
¢ ¢) 547.2
40. In a triangle ABC. the bisector of
A meets BC at D. If AB=g 4cm,
the perimeter (in €M) of AABC is:
a) 30.8
e 31.2
d) 336
above the cost price. He sells 60%
of the goods at the marked price
5 by giving 50% discount on the
marked price. What is his overail
a) 3.6% Profit
b) 3.8% Loss _

39. A shopkeeper 09 an articie for Rg
four times the 1055 7> What price
a) 537.2
d) 552.2 ’
AC=11.2cm and BD=4 8cm, then
b) 30.6

41. A dealer marks his goods at 30%
giving 10% discount and the rest
PIoft/ loss percent?

_e} 3.8% Profit

The height of the, flagpole is: ¥P d) 3.6% Loss
O ft ' B &
b) ggg L 42 The average of the ages of Ravi,
¢) Motran and Govind is 39 years. If
o) 7oh f&  Shyam joins them now, the
37. The inner and outer radii of two ?:ﬂéra ﬁiogéhﬂge'&? Of:: et t
- Outer radii or twe emwi ears. The pres
cdncentric circles are 6.5 cm and € Iy adgeé of Shyam isy:“ R
10 ¢m, respectively. What is the Y i
difference between their 7 347 b) 13 ;22:2
cireumference (in cm)? B 29 vears
a) 33 ‘ wfod B She
b) 1? 6 ; i d] 32 years
c) 22 v . . .
d) 17.5 43.1n 2 triangle, { thiee alfudes are
9 17 oA qual, then the friangie is '
3 P S j z) - i
38. A, B, C started a joint venture. 7 oo ’ Z) qutifatszral D
Thrice of the investment made by e ¢) Right
A is 4 times of B's investment and d) lsosceles

B's investment istwice of C's
investment. Find the ratio in which
the profit will be shared?
a) 8:6:3.
b) 8:3:1 W/
-Gy 4:3:
“d) 8:6:

G,
y =~ N

19))

/

44 In a college of 1335 students, 60 %
are boys. Find the number of girls ..
and number of bozs in the college?
a) 923,221~
b) 691,404
c) 801,534
d) 534,801
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uare Is
s each side” %;.,q find the
i::::::tea%? ange In its area.
p) 135
d) 125

The an jevation of a ladder
46. The angle of 82 1| is 60° and

jeaning again® oy
the foot of the jpdder is 4.6 m away

from the wait, The length of the
ladder is:

a) 23m

by 46m

c) 7.8m

d) 92m

47. A, B, and C stat@ business
together. A invests $8000, B
invests $10000,and C invests
$12000. At the end of the year,
they make a proftt of $1 5000. How
much of the profit will A receive?

53 Which is the largest country in
South Asia? -
a) India. .

b) China.-—
c) Pakistan——
d) Bangladesh__

54 In terms of population, the largest
continent is _ ,and the
smallest continent is :

_a). Asia, Antarctica
by Asia, Australia
¢) Africa, Antarctica
d) Africa, Alig,t’rg_ua i

— >

55 Name the continent whq@

type of climate is not fourd

a) Asia~ _

b) Europe
cities 18 located

\

c) Africa

- d)—North America

——

_66. Which of the given

a) ggg?) A W ¥~ 0 on the bank of river Ganga?
y @ a) Patna—.
c) $5000 . |8 e |
1) $6000 = 502 b) Gwalior
L ,¢ ¢ Bnopal
48. What is the product of (a+b)(@-b)? (S¢ d) Wathura,
a) ar2+br2 e iy ; '
ah? - b2 5 ' 2 Y57. Which of the following stgt_es_dﬂoes
) at2+2ab+ br2 1( v 7 not shqr_g_iLs bor dérvﬂ,tl"
d) a2 - 2ab+ b2 Myanmar?
\ a) Arunachal Pradesh
49 Which among these are \ b) Manipur
complementary angles? ! ) Assam
a) <A+<B= 90" "7 d) Mizoram
b) .;A+,<B-—:180° L
¢) <A+<B= 60° 58. The "Western Ghats" are located
d4) <A+<B= 45° é,ﬂ A parallel to the: - |
¥ a) Arabian Sea
50. Sin (90° —x) equaisto b) Bay of Bengal
a) cotx c) Irfian Ocean
_Jy-cos X d) Guif of Khambhat
¢) cosec X s .
d) secX 59. Which of the following acids is
51 Which Indian state is famous for its present in ant bites?
packwaters? a) Formic acid
&) Kerala b) Malic acid O<
b) Goa ¢) Perchloric acid
amil u _d) Nitric acid
d) Andhba Pradesh
- 60. What is the chemical symbol for
52. Which country is known as the gold? = i
"Land of ﬂTé“Tﬁ—ﬁér‘DTE’W gon™? a) Au
hutan  — b) Ag
b; l;ll‘eggt,.. “ ¢ Cu
c) Myanm dF
d) Sri La’j;; A
[5] - Morning Shift — Series B




61. What is a keystone species?

a) A species that helps to hoid an
ecosystem together.

b) A species that lives in or around
rocks

c) Keys and stones have nothing to
do with ecology.

d) Akeystone isn't a living thing, it's
just a stone.

62. Which one of the following
seas/gulfs are connected by the
Suez Cana|?

a) Gulf of Oman and the Red Sea

b) The Mediterranean Sea and the
Gulf of Oman

¢) Persian Gulf and the Arabian Sea

d) The Mediterranean Sea and the
Red Sea

63. The t_er_ijaper.,Go_lg‘__ mear
a) Special Drawing Rights (
the IMF
b) Special Accommodati
the World Bank
c) Currencies still on gold standard
d)" Deficit Financing =

64. The Cash Reserve Ratio refers
a) The share of Net Demand and

Time Liabilities thattanks have

to hold as balanc With RBI.
/bj/T(‘]he Ratio of cash Ing to
: reserves banks.

¢) The'share of Net Demand and
Time Liabilities that banks have
to hold as liquid assets.

d) The share of Net Demand and
“Time Liabilities that banks have
to-hold as part of their cash
reserves.

65. The famous dance form Kathakali

is native to which Indian sfate?
. Kerala [
\b) Odisha
¢) Tamil Nadu
d) West Bengal

66. Who is the current € EOQ of Apple
~Inc.? Ll )
. a) Steve Jobs
b} Tim Cook
ci Bill Gates
gy~ Jeff Bezos

th a
67. Who is the authof aif"..?e book

The Hero of Tiger -
a) Maliika Sarabh?
b) Sannidhya St;]a
¢) Sanjukta das

)- S’ubjédér Major YO9endra Singh

Yadav

68. Who_was the first Muslim Prasident
of Indian National “9ngress?
——a)y-Abul Kalam
b) Syed AhmedHha
c) Badruddin Ty8bji
d) FazalulHaqg

69. Which of the following is a
statutory body?
a) NITI Ayog
b) National Human Rights

Commission

¢) Election Commission of India
d) CAG

70. Which Schedule of the constitution
provides provisions in relation to
the'three legisfative lists namely
Union, state and Cgncurrent lists?
a)“ IV =T
b) VI
cy I

—A7IX

71. The Basic Structure Doctrine was
enunciated by the Supreme court
during the ol
d) Kesavananda i Case
b) Golak Nath Cage
¢) SR Bommai case

/d.)/Maneka Gandhi Case

72. Who said the CAG shall probably
be the most important/officer under
the Constitution of jrdia”

a) B.R.Ambedkar

Py "Pt. Jawahartal Nehru
c) Sardar Yalla Bhai Patel
d) Rajendra Parsad

- National Party

a) " Prime Minister

b) Parliament
c)—Election Commission
d) President

74. Which of the following manuscript
is included in UNESCQ's Memory
of World Register - o
a) Rig Veda
amayana
¢) Mahabharata
d) None of the Above

-Who recognises political party as a
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. It is located at
: yault 1S TDLiEn &
5 e ot oo
a) Ladakh,.
b) Jammu -
c) Tawang -
d) Lipulekh .
76. Which of the ol0%/n9 words is a
ho_rrno‘ny\n\'of fﬁ'r ’j?
a) Tale\ = !
b) Mail '
©) Sail !
~’d) Pale

77. Which of the folowing words is a
synonym of "eagel
a) Indifferent
b) Reluctant
c) Enthusiastic
d) Apathetic

78. Which of the following words is a
syrionym of "frustrated"?
a) Delighted
Satisfied
c) Aggravated
d) Caim

79. Which of the following words
means "to express sorrow of
regret'? =
a) Celebrate

/b) EJOice'
c)’ Lament
d) Cheer.

80. | haven't seen her a
<" month. '
a) since
by for |/
-<¢) from
/ d) to

81. itis rain’ipg, | will still go
forawak.~
a) Though
b) Although O(
/c)’“ Because
d) Since

82. Which of the following is the
correct spelling?
a) Accomodate
b) Accommodate
c) Acommodate
ﬁ,waomo-diate

83. (;hoose the correct phrase for the
given sentence: He has a chip on

his shoulder.
a) He i_s always angry
b) Heis qiways complaining

_€)" He is always happy
d) He is always proud

84. Qhange the following sentence into
direct speech: She said that she
was tired. . it e
a) "We aeftired," she said

u ape tired," she said.
/c)/"She" '

" she said.
d) “I-amtired" shé said’
',85. Rearrange the following sentence:
“the / cat / on / roof / the / is”
a) The roof is on the cat.
b) On the cat is the roof.
c) The is on cat the roof.
The cat is on the roof.

——

e e

86. Rearrange the following sentences
to form a coherent paragraph:
A. These creatures possess a
variety of skills.
B. They may even be able to
recognize themselves in a mirror.
C. Octopuses are highly intelligent
marine animals.
D. They have been observed using
tools and solving puzzles.
a) C.B,AD
by C,A DB
c) ACDB
d) B,ADC

v)xGiven below are four jumbled
sentences. Outof the given
options pick the one that gives
their correct order.
A. When a calf is born-under
wafer the mother must get it to
the surface before it drowns.
B. The young ones remain with
their parents for o fifteen .
years or more.
C. Often anotherw
mother nudging the baby gently
and encouraging it to swim.

D. Whales have highly developed
maternal instincts.

a) DBCA




88. Select the most appropriate option

to fill in the blank
Catholics and Protestants have a
long history of ... in Northern
!reland but volunteers fram both
commurtities came together to

y build the monument of Peace
a) Truce |
b) Agreement
) Contest
d) Conflict

-B9. Some sentences gre given with
blanks to be filed in with an
appropnate word (s).

{MI Civilised nations now believe
in treatmerdt of prisoners.

Human
b) Humane
¢) Humanitari
d) Humiliating

/eor. Select wrongly spelt word:
a) ‘Megre
LBy @S’o

c) Matter
e a"ﬁu/ d) Measur
% ~Select correctly spelt word:

¥

e a) lilecitly -
b) Hicitly

G llicitly
d) lllicitiey

92. Select the alternative which best
expresses the meaning of
Idiom/phrase.

To let someone off _
a) To let someone fall
b) To leave someone in his
present stafe =
Torelease someone from
blame )
d) Torefuse to answer

<63 Compuisory enlistment for military

service
_-a Militaristic

b) Armament

¢) Abdication

d) Conscription

94. The art of secret writi
&) Calligraphy
b) Palaeography
c) Cipher
d) Aeronautics
s

g —

o that exnroe
nan : presses
5 e
voice?, tchi
The family w2 walChing
Ramayana 0" ¢ ‘
n €n watched
a) Ramay? fly on the 1y

b) Ram
¢) Ra

@) Ramayana

family on ¥,
96.-Change the f{’"°‘”'”9 Sentence into

passive voicés ©"€ ate the cake.
a) The cakeMas €aten by her
b) The cakg 3 her.

€ The cake WaSeating her.

d) The caRejVéS ate by her.
Read the followind Passage and fiil the
numbered spots with appropriate word:
There are (1) ways fo empower

women. Individual people and the
administration must work (2) fo .

make thisa___{3) . Girl's education”
must be made mandalory so that they do

not become ignorant, uneducated, and
unable to support themselves. Women
must be (4) equal rights and
opportunities in all fields, reqardless of

their gender.

97. Select the most appropriate option
to fill in blank no. 1
a) Several
b) Chosen
—C) Selected
d) Counted

98. Select the most appropriate option
to fill in the blank 2
“a) Anonymously
-b) Cooperatively
€) Singlehandedly
_d)- Forcefully
99. Select the most appropriate option
to fill in the blank 3:
a) Reality .
b) Dream
C) - Truths
d) Fiction |
100. Seject the most appropriate
' option to illin blank no. 4.
a) Satisfied with
b) Taken

——&)}-Agcorded
d) Accepted




